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Corrigé de I'exercice 1

Compléter avec un nombre décimal :

1
1. 2x10+4 x 1000+ 8 x — = 4020,08 »4. 3 x + 8 x 100 + 7 x 1000 = 7800,003
100 1000
1 1
2. 8x104+6x14+4x —=2864 5. 8 X —+7 5%x1=5.807
10 >0 X 10T T Too0 T2 ’
1 1 . —
»3.8x1—0+8x100+9x1:9,88 »6. 5x1000+8x10+3x1=5083

Corrigé de I'exercice 2

Compléter avec un nombre décimal :

1
1. 1x1 4 X —
> x 100 + ><100—1—5><1000

1
= 100,045 »4. 5x1000+4x104+5 x 1—0:5040,5
1 »5. 8 x100+5x 10+ 2 x 1 =852
>2.4><1—|—8><E+1><1000:1004,8 1
’6. 7X1+4XT0+7X100:707,4

1 1
L 9X100+5X — 43X — =
»3. 9 100 +5 X 1543 x 7= 900,53

Corrigé de I'exercice 3

Compléter avec un nombre décimal :

1 1
>1.3x1000+2x1+7xﬁ:3002,07 >4.6><10—|—2><1+5><E:62,5
2. 5x10+8 1 7 1—5078 »5 6><100+3><i+5><10—65003
2. 5x 10+ 8 o0+ 7% 5= 50, . 100 ,
»3. 9x1000+9 x 1004+ 1 x 10 =9910 >6. 9% 1000+3 % 10+ 9 x — 9030009
1000

Corrigé de I'exercice 4
Compléter avec un nombre décimal :
1.9 L 2x147 ! =297 4. 1 x100+4 x1000+4 L = 4100,04
>1. xﬁ+x+xm_, »4. 1 x +4 x —|—xm_ ,
2. 2x1+14 L 1 71 2,041 5.3 L 1x104+3 L 10,33
»2. 2x1+ Xﬁ+ XlOOO_’ »5. Xﬁ+ X + Xﬁ_ ,

1 1 1
3. — 1 2x10=32 6. 1 x — — 10 = 1
> 6><10+3>< 00+ 2 x 10 = 320,6 > ><10+9><100+7>< 0="70,19
Corrigé de I'exercice 5
Compléter avec un nombre décimal :
1. 7x 146 x 1000+ 2 L 6 007,02 4. 5x142 L ) 5,025
Pl. 7x1+6x + Xﬁ* ) p4. 5x 1+ xﬁ—i— XlOO()*’

1 1
2. — 2x100=2 5. 2x1+4x —+4x 100 = 402,04
> 3><100+9><1000+ x 100 00,039 > x 14 ><100+ x 100 02,0

1 1
>3.3><1—0+6><10—|—8><1:68,3 >6.1x10+4xm+9x100029010,04
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